R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, TX-4172

Endura

P RODWUZCTS, |1

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Fiip Lever)
Astragal details (Ultimate Multi-point)
Astragal details (Ultimate Hurricane)
Door panel details (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

OIN|c| B |W(N

XX

74" MAX. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)
97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

INSWING

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [ LFS| PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

NOJ DATE

2
1

REVISIONS

oaTE: 7/12/12

scale:  N.T.S.

OUTSWING

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4172

SHEET 1 oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



"ON| SELNVLINSNOZJ aNIaling ‘m*'sS 2102 ©

SESl Ao o Xopines (3 g Awn) g — 51v0 Ton| o
— o S
T — . S41 TS ONIYINOILLYY @3aav|cL/co/zL] | |« X e o N
S6GEE 14 OdMIPA 0£Z Xog ‘O'd \S\&. ‘A18N3SSY H0 Ldvd [ S47[ 339N1dvY0 NId TvOVHISY MIN aav| 6i1/5/s | ¢ |~ = e
“ONI ‘SLNVLINSNOD SNIdTing = e | 2_
N > sl >
SZLYOL# "I'd SVXAL VaNan3 = M 22T g
‘3°'d IPIWYDS °4 uopuik :Ag peJdodesd sjuswnooq 110N00Nd _m.ln m W M W _..w._
WOLLOg -
0
..N ~N
% : —
2 TE [ [
STV PPRTTTES PYPR .\\ 2
OGNAT Z Bl =)
..................... o.‘ .m_., o . «
Ehes | & WAL
o gz] < nﬁ
= MU. han
_ R SO0 5
2 - |38
o =
(32} wn
o W
] L ” ID _ :wN._.
g = y
m ®5 N
N
o w

60.0"
63.0"
1.82"
0.063" ——| f=—
Z
é E MO 4
Astragal Section

76.0"

WS9°C

93.75"

HARDWARE LOCATIONS

ANCHOR SCREW LOCATIONS

|~—1.75"
7 5"

Fioe
| =
-

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

dOl

(2)#6-32 X 5/8" MACHINE SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

PFH WOOD SCREWS

(2)#8 X 1-1/2"

(2)#6-32 X 5/8" MACHINE SCREWS

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

Upper Bolt Sleeve - Aluminum

T 'BMPyL-TLTH-X1\suaunD\sBuimesg\s8s - 1A.L\su] 40 3dad sexa [\LNINVINYId eInpug\siualD\y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 3.2

; ﬂ\_y

L —

—
"
—

L
BAvw’- ¢
— S

S \alSe
-y

="

_~—

N — -

’ Steel

Upper Bolt Sleeve - Aluminum

Upper Latch - Reinf Resin

(2)#6-32 X 5/8" MACHINE SCREWS

Latch Actuator

A
E\
|~

Lower Latch - Reinf Resin

Aluminum Body

Lower Bolt Sleeve - Aluminum

ULTIMATE MULTI-POINT ASTRAGAL

(4)#8 X 3" PFH WOOD SCREWS

<}

>
A

~~ PFH WOOD SCREWS

HIP}

yai
\
\!

(2)#8 X 1-1/2"

ey
S
El.h

{ s,
& .CGamd,
Yl

TOP

33.75"

48.0"

52.0"

60.0"

63.0"

76.0"

Upper Latch

93.75"

ANCHOR SCREW LOCATIONS

Lower Latch

1
f=—1.75"

I—-— 7.5"

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS
(2)#8 X 1-1/2" PFH WOOD SCREWS

" (2)#6-32 X 5/8" MACHINE SCREWS

<

e w0

= T

1.75" —=— |=—

HARDWARE LOCATIONS

1.82" '

2.65"

0.063" —=—{=—
<l

L

Astragal Section

35.5" LATCH
41" DEADBOLT

1.78"

26.0"

BOTTOM

7.5"

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

PRODUCT:

LFS
BY

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS | PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

NO| DATE

1

[aV]

oATE: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX=4172

SHEET 3 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SAINVLINSNOJ aNIging "M "y soo0z @

ZS8LL—d # NOLVMISIOFY 40 ILVOIHILNEO SNOISIATY
SYIINIONI TWNOISSIH0¥d 40 Q¥vO8 SVX3IL Gm«@ﬂme:ﬁ&@«ﬁ%m:v A8 31Vd [ON] 8_
T gr— S41 TS ONUVINOLLYY d3aavicl/co/zL| L |ZJ|w (X 2|
: ‘o’ "XIGN3SSY_H0_18vd | 57| Janldvo Nid vovalsy Man aav] ci/s/e [z || 5| |2 |, = | %
G6GEE "4 OOUIPA OEZ X8 ‘O'd \Su@. NI Z w 5
"ONI ‘SINVLINSNOD ONIGTINg ~d g | 47
IR PR
SZLYOL# 3'd SvXaL YH4NANS - G2 | |E &
‘3'd IPIWYDS ‘4 UOPUAT  :Ag peupdeld sjusWINOOQ :10Na0Yd HEIHE g %
g w
T
T <
& o
< v
= =
> (%]
. © T
w = # m u
o @ WOLLOg pre Prd
o — ta
« I o)
- - 5
% A | 2
a)
3 " ‘ 3
o e
S \ ¥ o
<
g T
_ 3 =
8 = B <
= E S
; : g
in = = o
3 oS %
™ Qo >
el ° m 0
< - L o
[a)
@)
|
. 3
A
oz
5
<
=
o ]
| | =
L =
Y =
Bl <
S
- | | a
') m D ...M.. >
D. 0] ” m
.A|n mO <| 0 () = =
8] w FY m Q S
O O»|o = — o |.E
= 3|9 el wil'e
CW._ 55 <8 Z|5
- 0 L i
% o <| 5 W m m <
& =T S ANg
& = g " (e
O = > c ol
5 s|© I= & |5
O : E =
M < - <
5 050 —— |[=— 1=
x % = v o
(a4
i 2
5 < 3
O m >
T — L
$) 3 =
2 g 3
o
(-]
__Nm.olv_ TI
O T 2
Q)]
- <
° a) m
O d -_mQ-N A
A\ ¥l o W
i A\ Q| \ O
N = oz
0 w|< mf W A o
N = o M =)
™ = I
° = ~o 72}
n o~ E
™ T o<
o L =
- 5
5
(-]
-X-]
.@1 “_._T”
= = D .=. <I<
e To 12
R © S Ol
N

Tt BMPYL-TLTH-XL\susnD\sBuimesd\sgs - 1a.L\sul 4o 1da@ sexs\ININVINYId eINPUI\SIUSID\Y



STILE

(LAMINATED WOOD)

STILE
(LAMINATED WOOD)

INTERIOR

PARTICLE BOARD
LOCK BLOCK
(12.0" HIGH)

35.75" MAX.

7
/]

EXTERIOR 118" — =

m HORIZONTAL CROSS SECTION

PANEL WIDTH

21.0" MAX

D.L.O. WIDTH S
5

#6 X 1-1/2" PH SMS

GLASS BITE 1/2"
INTERIOR
/A ———1/2" NOMINAL GLASS THK.
R / 1/8" TEMPERED GLASS
) . — AR SPACE
« ~~—1/8" TEMPERED GLASS

STEEL SPACER
EXTERIOR Q'SO SEALANT
LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

24 Ga. STEEL SKIN \ St

TOP RAILL o
(N

0.81"

AT AW

//l

77

INTERIOR EXTERIOR

/i

77

FOAM CORE B
(POLYURErHArm\

0.81"

BOTTOM RAIL

(WOOD COMP.) ™ j’\\lb
‘

1.75"

L -
o

¥, |

:\"L}_‘L'\:’\'
LR

.......
- o
:
;
e ,’
§ RN
RSOt »
.
o
‘C Z S Hry—

?_

a2
Y

-

CERTIFICATE OF REGISTRATION # F—11852

Wl
0N
£ )
Jo 14
- n ]
EL o i
£ B Z
0 ui OmM o
cZ Z
e = N W
™ LG
& L
5 0® <
s 2
° oo §
gl—- FTWH =
3 Jdgo 0
]
2 >
0"~ M
ZOow o
> O:\".. 14
@ od = o
O Xz
o 0 '™
Z
£ g% 2
= [a]
§ S5o¢ [
= pon g
p
[2]
2 §
c
(]
= @§ §
3 =
o
o

ENDURA
DOOR PANEL DETAILS
(LIP "LITE INSERT GLAZING)

PRODUCT:

LFS
BY

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS| PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

NOJ| DATE

1

N

OATE: 7/12/12

SCALE:  N.T.S.

of= =
>
o) O
S8 3% - @
g 20
== ~ —
2f 3
/
J
MASONITE
Insert glazed
(Steel)

7“2\ VERTICAL CROSS SECTION

DWG. BY: JK

CHK. BY: LFS

\&/

DRAWING NO.:
TX—4172

SHEET 5 oF 8

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 5.2

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 6.2

P

1/4" MAX. -
SHIM SPACE T
EXT. SHEATHING 7 4‘ (TYP)
28 PhaiNG S #10 X 2.5" PFH WOOD SCREW
(G >=0.42) x //
JAMB
[ ENDURA WEATHERSTRIP
(QEBD 650)
INTERIOR
N
/ EXTERIOR
DRYWALL —
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4"HINGE

m HORIZONTAL CROSS SECTION
w Inswing shown - Outswing also approved

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

2 o
& s
g8 of
PR Ry

-
b g 8a g%
/ / HEt3d @k

2> l’) )]
/ / 2 ow© EE
V/ W/ E 8R. £9
// // o x2 i
2 Za, O
g 3,5 ol
? 22k IE
o § 8 6
o e
5 g B
£ & B

3
2
m | < E%
W V T DEADBOLT: KWIKSET SIGNATURE SERIES & 5 24
; %N (980/985) % N 0
—1 [FE]

/ / ——— LATCH: KWIKSET SIGNATURE SERIES ol 2
Vi V. (991) . < o
7 / 3 x

)
8l |z
& &
CORNER PADS (TYP.) eloh
i |
L
o
>
N
)
ULTIMATE FLIP LEVER ASTRAGAL - %
a (0p]
ULTIMATE MULTIPOINT ASTRAGAL =
R =
ULTIMATE HURRICANE ASTRAGAL g3l |2
nlol W
ENDURA WEATHERSTRIP <E| [®
DOOR PANEL
(QEBD/PE 650) / 5| <
o
[a] I
aln
< | <C
> 0|2
= F NE =
BANE
N
#8 X 3" PFH WS z

DATE: 7/12/12

#8 X 1"PFH WS

scale:  N.T.S.

DWG. BY: JK

/"2 HORIZONTAL CROSS SECTION

LFS

CHK. BY:

NG

DRAWING NO.:
TX—4172

SHEET 6 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 7.2

—] 2X FRAMING Wy
— N
f > (G>=0.42) 43 @
1 A1 = : o 0 D
) s, EXTERIOR Y/ INTERIOR = £ b g2
) 0 oy Jdi8 oy
EXT. SHEATHING 1 i DRYWALL i & 25y El
1 / DOOR PANEL S =S s £.5 33
f \\ 15 2 Zeg 6%
‘ : ENDURA DOOR SWEEP v, 301 > 388 Bk
il [ zor— 10X 2.5 PR (DBK-ZAC) R TR gt 205 b
[ 7| WOODSCREW ENDURA THRESHOLD NG I s 8R% £¢
1/4" MAX. ’ - (Z-SERIES INSWING ARTICULATING ® : . oxf .
SHIMSPACE il o SILL w/ PIN CAPTURE) ' £ 5% %6
bZao #IACL4565 (shown) § 592 Bp
SHE s m§ 3%
] i
| £ £
DOOR PANEL \ —i Eﬁ %, E gg
(3]
HEAD
ENDURA WEATHERSTRIP 2
(QEBD/PE 650) 5
L
EXTERIOR \\} INTERIOR #10 X 2.5" PFH WOOD SCREW < z
1/4" X 2-3/4" ELCO OR 3 |5 S
1"\ VERTICAL CROSS SECTION TW CONCRETE SCREW vl S
\Z_/ Quiswing shown - inswing /5 "\ VERTICAL CROSS SECTION ) 2 3
PP \7/ Inswing configuration g x E
o = >
o x
o <
o o
/1 //
INTERIOR o 0p pANEL EXTERIOR EXTERIOR INTERIOR EXTERIOR INTERIOR eleh
ENDURA WEATHERSTRIP k &
(QEBD/PE 450) DOOR PANEL DOOR PANEL &
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP \ 3
(Z-SERIES OUTSWING) (DBK-AC) =23 |
ZOB4565FN (shown) ENDURA THRESHOLD ENDURA THRESHOLD RN 22 2
(Z-SERIES INSWING ADJUSTABLE] (Z-SERIES INSWING ARTICULATING) = {.j § g =
,, ZAI4565FN (shown) ZACA565FN (shown) '.'f//)‘ =3 [
s P‘ 4 &2 =11 ___9 IO 22 |
3 0 =&
\ N\ / // ~ 2la
N \ o|8
Q|a
<| <<
= = M
2 S SN
= = NLo) [
= S NS
o
v, 57 ol %
210X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW e 7,712/12
) ) 1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR SAE . N.T.S
1/4" X 2-3/4" ELCO OR T.S.
LK e a ook ITW CONCRETE SCREW TW CONCRETE SCREW o e K
CHK. BY: LFS
/2 VERTICAL CROSS SECTION 3"\ VERTICAL CROSS SECTION 4"\ VERTICAL CROSS SECTION e o
X—4172

w Outswing shown w Inswing configuration \Z/ Inswing configuration

SHEET _/ oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 8.2

s o 2X framing (by others) o o 8
Eq o 2, T2 0 b
% 9 % 3 q 4" “".//L/ {{)f % 'S § % ?2
] e \ " i | — '." /\. 4"_ a m ) o
< a ey~ g (TYP.] Astragal Strike Plate Gy e 2y 80
‘ | ™ mvpy ¢ @ Head Jamb Bizg gé g5 4>
s <5 A - T <89 60
SEE HINGE T T 1 & "“‘ 5 HE8 Bk
' T gy DEALI I L - 1 L el L SN |7 icg
- #10X 2.5" PFH DETAIL 1 %0 ] o= & 8% Eg
P WOOD SCREW .o N 3 93% u.
o (TYP. @ HEAD = N\ g 355 ¢°
AND JAMBS) #10 X 2.5" PFH WS g Ros g
. -/ - - 8O
¢ 2] [
% Eﬂ \{ | DETAIL 1 E § gg
o 3 ge
\ §
= u & #8 X 2-1/2" PFH WS
3 7
SEE HINGE ' ' " o [lo~
F #8 X 1" PFH WS 47' i . 2
DETAIL 2 -~ H — #8 X 3/4" PFH WS =
| — ~— 4" X 4" HINGE & X
i} > O
W = 3 =
Ly =
ol
/] | | % HINGE DETAIL 1 3 3
5 DETAIL2, 3OR 4 N - i
E:; = 14
| / - = o
l ol |&
. [a o
% -1/2'PFHW
#10 X 2.5" PFH WOOD SCREW |~ #OX2A/ZPRAWS [
4 (‘T‘YH - . 1/4" X 2-3/4" ELCO OR :. K -
"MYP) = | = . TW CONCRETE SCREW ; 4 g i
- CHORIN ~— 4'X 4" HINGE 3|
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A’)‘(’X G \S zl5
CONCRETE (MIN. 3000 PSI) lol |2
WOOD (G >=0.42) HINGE DETAIL 2 ERE
ES |5
QAR |z
=<
Z|lo
Ly
CONCRETE ANCHOR NOTES: 2/8
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW < :
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4"ELCO OR Lo
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo [TW CONCRETE SCREW I e
maintain the min. edge distance to mortar joints, additional concrete anchors 1/2" DIA. HOLE (IN CAP) NN
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" Dl(‘\- HOLE =15
N —
=z
e = : - X ﬁ.‘o .P Ol
- | MIN. CLEARANCE | MIN. CLEARANCE N : = 2 T = = = 5 AIRAGALEIN bate: 7/12/12
| TOMASONRY | TOADJACENT | 1} = CAPTURE SWE_ N.T.S.
N DG v e AN CHOR COMPONENT DWG. BY: JK
mw " " o " CHK. BY: LFS
ELCO " - N " Outswing Inswing Inswing Inswing TX—4172
utrRacoN®| 1/ 1-3/4 ] 8
SHEET _8 oF 8

© 2012 R.W. BuILDING CONSULTANTS INC.




